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General Instructions :
(1) The question paper has 30 questions in all. All questions are compulsory.
(it)  Marks for each question are indicated against the question.

(iti) Questions from serial number 1 to 9 are Multiple Choice Questions.

Each question carries 1 mark.

(iv) Questions from serial number 10 to 21 are 3 marks questions.

Answers of these questions should not exceed 80 words each.

(v) Questions from serial number 22 to 29 are 5 marks questions.

Answers of these questions should not exceed 120 words each.

(vi)  Question number 30 is a map question of 5 marks (2 marks from History

and 3 marks from Geography).

(vii) Attach the filled up map inside your answer-book.
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1. Tm=faRed aftmi 4 & fheq 30 #i T W@as TY & €9 ° A= 4 ?
(A form =ty
(B) &g G4
(C) =H =Y
(D) Ee SHA |y
T ;

‘z o=t atfw ¢ e o1 fomaam’ F=ifeifaa & o forem foret 2
(A)  HE 9 9

B) o fereman

C) wH B

(D) TSIHHAR FH3T ¢
Which one of the following treaties recognised Greece as an independent
nation ?

(A)  Treaty of Vienna
(B)  Treaty of Constantinople
(C) Treaty of Versailles

(D) Treaty of St. Germain

OR
Who among the following wrote the ‘History of the Loss of Vietnam’ ?
(A)  Phan Boi Chau
(B) Liang Qichao
(C)  Phan Chu Trinh

(D)  Prince Cuong De
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2. Trafafea & @+ wm & = & 3 s urdl & Ted v | et ot 2 1
(A) GuN o5 9"

(B) HididA T8&®
(C) SETEL | 8%
(D)  TIeTHTS IS

Who among the following was associated with the formation of ‘Swaraj

Party’ within the Congress ?
(A)  Subhas Chandra Bose

(B) Motilal Nehru
(C) Jawahar Lal Nehru

(D) Dadabhai Naoroji
3. T % R T W IR AfYS TR FH W fofu fAfailaa & @ forgenn

3T T ST ® 2 1
(A) BT

(B)  hIThTT hid

(©) HHE

(D) =FTHeER

Which one of the following minerals is used to harden steel during its

manufacturing ?
(A) Iron ore

(B)  Coking coal
(C) Manganese

(D) Limestone
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4. iAo % 99 g 1 GF RO w0 o7 ? Fefafed § @ suge swoghe ;. ]
(A)  SaAgfd 1 SR
(B) = g
(©) T 5@ 61 mgfd
(D) 1 ! IR T Jed Jhg

What was the main reason of Bolivia’s water war ? Choose the most
appropriate answer from the following :

(A)  Privatisation of water supply
(B)  Irregular water supply
(C)  Supply of poor quality water

(D)  An increase in water price by four times

5. YRd 4 ‘ToHifae gl o Fefaliad 8 9 9 #=dn Yeq s g 2 1
(A) TS AR
(B) YA o1 TgUfd

(C) s 9T T Tt

(D) 3=dH ™A

Who among the following recognises ‘Political Parties’ in India ?
(A) Election Commission
(B) President of India

(C)  Speaker of Lok Sabha

(D)  Supreme Court
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6. T=faiRad § @ -5 drehaa 1 FHATE SMER T 6T A 7 2 1
(A) g3l i wfth T&H w1
(B) &1 ol &l 9 Temror | T v
(C) T TTHRT i AT ATTHR T T

(D)  STcIEETS THEl I WAk JGH HET

Which one of the following is a foundational challenge of democracy ?
(A) Empowering women

(B)  Keeping military away from controlling government

(C)  Ensuring greater power to local governments

(D) Empowering minority groups

7. TmfaRea & @ snyfe g5 &1 9 wE-A1 R 2 1
(A) A TR
(B) @M
©) =id
(D) s

Which one of the following is a modern form of currency ?

(A) Paper notes
(B) Gold

(C)  Silver

(D)  Copper
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8.  UTHiu &nll o T, forRivet Afgersl Bl ®01 o % fog fefeiad § @ wHar 2

BRI CI N

(A)  wiATRlea d
(B) umiw s

(C) T Tl 99
D) EEER

Which one of the following is the newer way of providing loans to the
rural poor, particularly women ?

(A)  Cooperative Banks
(B)  Gramin Banks
(C)  Self Help Groups

(D) Moneylenders

9. UK g EULl AT Ffqadi hl g hl TfhaAT Sl ST ST & 1
(A) e
(B) sl
(C)  UERER
(D)  SERIH

Removing barriers or restrictions set by the government is known as
(A)  Globalisation

(B)  Privatisation

(C) Nationalisation

(D) Liberalisation
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10. Shifem Fote F1 & 2 IAhI fafafery SR AN 3 Ugag & fa=am =t fagm

T % H ol TR Heg i 2 T8 i | 1+2=3
Srera

foa™ # Srehaites RS T % T wH 9 B o foemi W e g
IS |

What were Jacobin Clubs ? How did their activities and campaigns help

to spread the idea of nationalism abroad ? Explain.

OR

Explain the ideas of Phan Chu Trinh to establish a democratic republic in

Vietnam.

11.  STHgaN AGIeH dR-eR gl | /g 1 984 @ ? T8 HIT | 3

Why did the Non-Cooperation Movement gradually slow down in the
cities ? Explain.

12, GO 3199 e § SIaursl 3T e 1 gfteht w1 aui hifs | 3

Describe the role of merchants and industrialists in the Civil
Disobedience Movement.

13. QST & WUSK & 371k A8 bl THTfId Shid a1 fohegl i hIeh! hl ST
I | 3x1=3

Explain any three factors affecting the economic viability of a reserve of

minerals.
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14. XA § < 3T o quer ufedra fohdl oA wg@ gt o1 faemor Hifv |
3x1=3

Analyse any three major challenges faced by the sugar industry in India.

15. Toregi <A geat <t samen IS St g6 79 ot gEeHl o wev o o Ufa
Hd B 2 3x1=3

Explain any three values which inspire us to conserve our energy

resources.

16. U9Td, BRATON 3R ITEUE o YE ‘& ToHifdeh gai o A1 ShAS: 3

fergl % =1y 9drEy | 1é+1é=3

Name the ‘Regional Political Parties’ predominant in Punjab, Haryana

and Uttarakhand respectively with their symbols.

17. <9E 9g 91 8 ? 9 Tohd TR o1 § ? T8 HI | 1+2=3

What are pressure groups ? How are they formed ? Explain.

18. WihdiFeh TR bl [IurRft WHR & ®F H F IHT Sl 8 ? TIF

i | 3

Why is democractic government known as legitimate government ?

Explain.

19. 15 forg TR Tgfa Eieamsh it siwor & fovg ‘afoqfd framor & sifeepr’ @
IPANT L HRAT 7, Toh ISTE0 Afed w98 Hifw | 3

Explain with an example how one can use the ‘Right to Seek Redressal’

against unfair trade practices and exploitation.
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20. ‘BIE WX FH, B 30SAT H1 fqepE fava & g ¥ W AW HIEA % Y
gt STgfd Sheg o &9 H bl HE =R off 2 s Hifv | 3

Why did ‘Ford Motor Company’ want to develop Ford India as a

component supplying base for its other plants across the globe ? Explain.
21. IYNEAI IUR <d THY 1 KOMGR < T 911 Hgd & 2 I3 diF SR AT |
3x1=3

Why do lenders ask for collateral while lending ? Give any three reasons.

22. ‘U # TP % fo=m % M0 § Gl 3 AEwqul Yy YE 7 17 39 %o
&1 gfE 3Tk Igrewn | HifT | 5x1=5

HAAT

“Trraam ® ufgamd 9 haat Argredt & &9 ° el 6 78 off, s1fug wm %
w9 1 ot fsfua 1 72 17 30 sem i gy 3grewen afga i | 5x1=5

“Culture played an important role in creating the idea of the nation in

Europe.” Support the statement with suitable examples.

OR

“Women were represented not only as warriors but also as workers in

Vietnam.” Support the statement with examples.

23.  3T1{feh WM W THGAN ITTeIdA & JHTET bl T8 il | 5x1=5

Explain the effects of Non-Cooperation Movement on the economic front.
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“TEqTd % IcUTed T @Ud skl TTF: Teh <31 o foehrd hl SHMT M1 ST & | 5
38 HUA hl S T |
“Production and consumption of steel is often regarded as the index of a
country’s development.” Examine the statement.
“uredtar W < o i frehr % @y-E ST SN By % i faew % o
e A 8 |7 39 B 1 A frg Fife |
“Indian Railways binds the economic life of the country as well as
accelerates the development of industry and agriculture.” Justify the
statement.
51
AT TR HIIHIC A JuT Bret 8 |7 36 HeH ol faveryor Hifvw |
“A democratic government is efficient and effective.” Analyse the
statement.
TG g R AR fhE TR TSI T THE STetd & ? Thegl 9i= adien ohl
C2IEY %li\aQ |
5x1=5

How do pressure groups and movements exert influence on politics ?

Explain any five ways.
Sepl 3R HEgshrl il = 1o nfafafemt arfior & & e w0 e
7 ? T HIT | 5

Why is it necessary for banks and cooperatives to increase their lending

in rural areas ? Explain.

“IurEratt hl Efsha urfiel 9 & SUWRRT SAeie JHTe 8 Eehdl 8 |7 39
e 1 faveryor Hifw | 5x1=5

“Consumer movement can be effective only with the consumer’s active

involvement.” Analyse the statement.
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30. (30.1) G AU A 3T B, WRA o ToHIfdh @I-HHH (I8 15 W) § 3fhd
fpu M & | 39 AN o Fefaied M fl EEdr ¥ qgEnEy
3R 3oh WEl W, AR | St 18 et W faRan
A 98 WH & fearsr 1920 ¥ 9Rd TP 0w w1 AfeyH

AT AT |
B. 98 TIM V@l FHgAN HAGieH oy form |
(30.2) Tr=fafaa e ot ara % & TeHifas T@ramt | sug sl
g fe@msu o 39 9m fafgu 3x1=3
(i) FWEY — Y Al GIF
(i) R — S 95 3T g
(iil) = ATAR — TI@ TG T
(30.1) Two features A and B are marked in the political outline map of

India (on page 15). Identify these features with the help of the
following information and write their correct names on the lines

2X1=2

marked in the map :

A. The place where the Indian National Congress Session
was held in December 1920.

B. The place where Non-Cooperation Movement was called
off.

(30.2)  On the same political outline map of India, locate and label the
following with appropriate symbols :
(1) Namrup — Thermal Power Plant
(ii)) Srinagar — Woollen Industrial Centre

(iii) New Mangalore — Major Sea Port
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A :  fEferfegd 5o dact gIvEIT wheiara & forg 5o FET 30 % 9 W E -

Note: The following questions are for the Blind Candidates only, in lieu of
Q. No. 30 :

(30.1)

(30.2)
(30.3)
(30.4)

(30.5)

(30.1)

(30.2)

(30.3)
(30.4)
(30.5)

3T TYH HT TM FdqREY A&l GO 1920 H WA TER HiTE Hi
JfaTH g3 o |

39 TIM 1 919 9d130 gl JAHINT el a9 fof=m T o |

qfiet A1g § oo smmvTfares il G 1 AW SaTsy |

TieTs dreT o gedTa @ form T § feya 2 2

= HEIR TE 9l o fohe Usa | feda 7 2 5x1=5

Name the place where the Indian National Congress Session
was held in December 1920.

Name the place where the Non-Cooperation Movement was
called off.

Name the nuclear power plant located in Tamil Nadu.
In which state is the Bhilai iron and steel plant located ?

In which state is the New Mangalore major sea port located ?
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For question no. 30.1, 30.2
Outline Map of India (Political)

A T [T (T T )
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